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BACHELOR OF ARTS (HONOURS) 
ECONOMICS (BAECH) 
Term-End Examination  

December, 2024 
BECC–101 : INTRODUCTORY MICRO 

ECONOMICS 

 Time : 3 Hours    Maximum Marks : 100 

Note : Answer questions from each Section as per 
instruction given.  

 (i) Section A : Answer any two questions 
 from this Section. 

 (ii) Section B : Answer any four questions 
 from this Section. 

 (iii) Section C : Answer both the questions. 

Section—A 

1. (i) Define production possibility curve. How 
 can we use production possibility curve to 
 demonstrate increasing, constant and 
 decreasing returns to scale ? (Diagrams are 
 required.) 10 
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 (ii) Given the demand and supply equations as 
 QD = 150000 – 3P and QS = 7P, calculate : 

10 

(a) Equilibrium price, and 

(b) Equilibrium quantity 

2. (i) Given the demand function : 

QX = 8000 – 1000 PX 

  determine the elasticity of demand at a 

 single point, where the price of ` 6 and the 

 corresponding quantity of 2000 units.   10 

 (ii) Discuss the least cost combination of 

 inputs with the help of isoquant curve and 
 isocost line (Diagrams are required.) 10 

3. (i) Define the price consumption curve and 
 use them to derive the demand curves for : 

5+5=10 

(a) A Giffen good, and 

(b) A normal good  
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 (ii) Explain the technique of splitting the price 
 effect into its components of substitution 
 and income effects for a Giffen good. 10 

4. (i) Show that the supply curve for a 

 competitive firm is the rising part of the 
 marginal cost curve. 10 

 (ii) Do you think that the kinked demand 

 curve describes price rigidity ? Give 
 reasons. What are its limitations ? 10 

Section—B 

5. (i) The demand curve for labour by an 
 industry is given by the curve :  

LD = 1200 – 10 W, 

  where LD is the labour demanded per day 

 and W is the wage rate. The supply curve 
 is given by LS = 20 W. What is the 
 equilibrium wage rate and quantity of 

 labour hired ? What is the economic rent 
 earned by workers ? 7 
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 (ii) The price of a product falls by 10%. In 

 consequence, the total expenditure of the 

 consumer rises by 20%. Find the price 

 elasticity of demand. 5 

6. (i) Show that Marshall’s analysis can’t 

 account for Giffen good. 6 

 (ii) What is the relationship between the 

 utility approach and the indifference curve 

 approach to consumer demand theory ? 6 

7. Define corner solution. Explain the following 

two points under corner solution concept : 12 

 (a) When only one commodity is purchased. 

 (b) Consumer equilibrium in case of concave 

 indifference curves. (Diagrams are 

 required.) 
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8. (i) What are the three stages of production ? 
 Which one of these do the producers prefer 
 and why ? 6 

 (ii) With the help of diagram, define the ridge 
 lines and the economic and the non-
 economic regions of production. 6 

9. (i) Show that a competitive firm always 
 operates at its optimal capacity in the long-
 run.   7 

 (ii) Explain the concept of prisoner’s  
 dilemma. 5 

10. Write short notes  on the following : 

 (i) Third degree price discrimination 6 

 (ii) Excess capacity 6 

Section—C 

11. Define the fundamental role of the marginal 

cost in achieving efficiency in a perfectly 
competitive market. 6 
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12. What do you understand by the market  

failure ? Explain the sources of market  

failure.   6 
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BECC–101 

dyk Lukrd (vkWulZ) vFkZ'kkL=k 

(ch-,-bZ-lh-,p-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-bZ-lh-lh-–101 % izkjfEHkd O;f"V vFkZ'kkL=k 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % lHkh Hkkxksa ls funsZ'kkuqlkj iz'uksa ds mÙkj  

fyf[k,A 

 (i) Hkkx ^d* % bl Hkkx ls fdUgha n k s iz'uksa ds 

 mÙkj fyf[k,A 

 (ii) Hkkx ^[k* % bl Hkkx ls fdUgha p kj iz'uksa ds 

 mÙkj fyf[k,A 

 (iii) Hkkx ^x* % bl Hkkx ds n k suk sa iz'uksa ds mÙkj 

 fyf[k,A 
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Hkkxµd 

1- (i) mRiknu laHkkouk oØ dh ifjHkk"kk nhft,A ge 

bl oØ dk o`f¼eku] fLFkj rFkk ßkleku iSekus 

ds izfriQy fn[kkus ds fy, fdl izdkj iz;ksx 

dj ldrs gSa \ (fp=kksa dk iz;ksx dhft,A) 10 

 (ii) ek¡x vkSj vkiwfrZ IkQyu Øe'k% bl izdkj gS %  

QD = 150000 – 3P rFkk QS = 7 P 

  vkdyu dhft, % 10 

  (d) larqyu dher] rFkk 

  ([k) larqyu ek=kk 

2- (i) ek¡x iQyu QX = 8000 – 1000 PX fn;k x;k gSA 

,d ,dy fcUnq ij dher ` 6 rFkk ek=kk 2000 

bdkb;k¡ gSA ek¡x dh yksp dk vkdyu  

dhft,A 10 
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 (ii) leksRikn oØ ,oa leykxr oØ dh lgk;rk ls 

vknkuksa ds U;wure ykxr la;kstu ij ppkZ 

dhft,A (js[kkfp=kksa dk iz;ksx dhft,A) 10 

3- (i) dher miHkksx oØ dh ifjHkk"kk nhft, vkSj 

mudk iz;ksx dj buds ek¡x oØksa dh O;qRifÙk 

dhft, % 5+5=10 

  (d) ,d fxfiQu oLrq] rFkk 

  ([k) ,d lkekU; oLrq 

 (ii) fdlh fxfiQu oLrq ds fy, dher izHkko dks 

mlds izfrLFkkiu rFkk vk; izHkko ?kVdksa esa 

foHkkftr djus dh rduhd dks le>kb,A 10 

4- (i) n'kkZb, fd ,d Li/hZ iQeZ dk vkiwfrZ oØ 

mlds lhekar oØ dk Åij mBrk gqvk Hkkx  

gSA  10 
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 (ii) D;k vki le>rs gSa fd ddqnrkiw.kZ ek¡x oØ 

dher vuE;rk dks n'kkZrh gS \ dkj.k crkb,A 

bldh D;k lhek,¡ gksrh gSa \ 10 

Hkkxµ[k 

5- (i) fdlh m|ksx dh Je ds fy, ek¡x dk oØ bl 

izdkj gS %  

LD = 1200 – 10W 

  tgk¡ LD izfrfnu Je dh ek¡x rFkk W etnwjh 

dh nj gSA vkiwfrZ oØ LS = 20 W A larqyu 

Lrj ij etnwjh nj rFkk dke ij j[ks x, 

Jfedksa dh la[;k D;k gksxh \ Jfed vkfFkZd 

yxku ds :i esa D;k dek jgs gSa \ 7 

 (ii) fdlh oLrq dh dher esa 10% dh fxjkoV gks 

tkrh gSA ifj.kkeLo:i miHkksDrk dk ml oLrq 

ij O;; 20% vf/d gks tkrk gSA ek¡x dh 

dher yksp dk vkdyu dhft,A 5 
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6- (i) n'kkZb, fd ek'kZy dk fo'ys"k.k fxfiQu oLrq ds 

ekeys dh O;k[;k ugha dj ikrkA 6 

 (ii) miHkksDrk dh ek¡x ds fl¼kUr ds izfr mi;ksfxrk 

n`f"Vdks.k rFkk le&vf/eku oØ n`f"Vdks.k esa 

D;k lEcU/ gS \ 6 

7- dksf.kd lek/ku dh ifjHkk"kk nhft,A bl dksf.kd 

lek/ku ladYiuk ds varxZr fuEufyf[kr nks fcUnqvksa 

dh O;k[;k dhft, % 12 

 (d) tc dsoy ,d oLrq dh gh [kjhnkjh gksrh gSA 

 ([k) vory levf/eku oØ dh n'kk esa miHkksDrk 

 dk larqyu (fp=kksa dk iz;ksx dhft,A) 

8- (i) mRiknu ds rhu lksiku D;k gSa \ mRiknd buesa 

ls fdls csgrj ekurs gSa vkSj D;ksa \ 6 

 (ii) ,d js[kkfp=k }kjk dVd js[kkvksa] vFkZ&{ke  

rFkk xSj vFkZ&{ke mRiknu {ks=kksa dh ifjHkk"kk 

dhft,A 6 
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9-  (i) n'kkZb, fd ,d Li/hZ iQeZ nh?kZdky esa b"Vre 

Lrj ij gh mRiknu djrh gSA 7 

 (ii) cUnh dh nqfo/k dh ladYiuk dh O;k[;k 

dhft,A 5 

10- fuEufyf[kr ij y?kq fVIif.k;k¡ fyf[k, %  

 (i) r`rh; dksfV dk dher foHksnu 6 

 (ii) vfrfjDr {kerk 6 

Hkkxµx 

11- ,d iw.kZ izfr;ksxh cktkj esa n{krk izkfIr esa lhekar 

ykxr dh ewyHkwr Hkwfedk dh ifjHkk"kk nhft,A 6 

12- cktkj dh foiQyrk ls D;k rkRi;Z gS \ cktkj dh 

foiQyrk ds lzksrksa dh O;k[;k dhft,A 6 

 

 

 × × × × × × ×  
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